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[bookmark: _GoBack]Look at the number 502. 
	Hundreds
	Tens
	Units

	5
	0
	2


This number is five hundred and two. We use zeros to keep the digits in the correct columns. If we missed out the zero from the number above we would have 52 and that’s a very different number from 502.
52 = five tens and two units
	Hundreds
	Tens
	Units

	
	5
	2


502 is much bigger than 52.
The zero is important in this number. The zero is called a placeholder. It’s not worth anything on its own, but it changes the value of other digits. In this case zero changes the number 52 to a much larger number 502.
The zero placeholder is keeping the 5 and 2 in their correct places:
[image: the number 502]
The digit on the right of any whole number will always be in the units column. If there are no units there will be a zero in the units column. For example, in the number 20 there is a zero in the units column.
	Hundreds
	Tens
	Units

	
	2
	0
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